URLY TE LA
INSIZE> Prus

8 [ 1)

E Hl
AEHECREEESR
AEFIM3~M150mmEERNESRT

AL mm

L1

@D+0.01

b=}
SRS 5Y [F) 0 /N T 3um

<

BRECHL T HEE (ERTR )
FEIRECE (AL 2 TIRSAL N

R
r N
RIS ROE | KRIRSEL TR WEHRLLTL 2 i (5
4662-12R 4662-3
w75 ARt i \\ I
® fififE: HRC60-63 &\I\\l\l\

IR (mm) IANHIIRLL (mm)
B= HRLT AR L L1 L2 @D BE e G L L1 L2 oD
4662-3 M3x0.5-6H 29 8 6 3 4662-12R M12x1.5-6H 53 10 18 12
4662-4 M4x0.7-6H 31.4 8 8.4 4 4662-14 M14x2-6H 59 10 24 14
4662-5 M5x0.8-6H 32.6 8 9.6 5 4662-14P M14x1-6H 47 10 12 14
4662-6 M6x1-6H 47 10 12 6 4662-14R M14x1.5-6H 53 10 18 14
4662-8 M8x1.25-6H 50 10 15 8 4662-16 M16x2-6H 59 10 24 16
4662-8P M8x1-6H 47 10 12 8 4662-16P M16x1-6H 47 10 12 16
4662-10 M10x1.5-6H 53 10 18 10 4662-16R M16x1.5-6H 53 10 18 16
4662-10P M10x1-6H 47 10 12 10 4662-20 M20x2.5-6H 65 10 30 20
4662-12 M12x1.75-6H 56 10 21 12 4662-20P M20x1-6H 47 10 12 20
4662-12P M12x1-6H 47 10 12 12 4662-20R M20x1.5-6H 53 10 18 20

EFRGE—IRLL (mm) ERRGE—IEL (mm)
Be LEEAG L L L1 L2 @D EilE= LRI L L1 L2 @D
4662-61 No.6-32UNC 325 | 8 9.5 3.505 4662-1B2 | 1/4-28UNF 459 | 10 | 10.9 | 6.350
4662-62 No.6-40UNF 306 | 8 7.6 3.505 4662-1B3 | 1/4-32UNEF | 44.5 | 10 9.5 6.350
4662-81 No.8-32UNC 325 | 8 9.5 4.166 4662-3C1 | 3/8-16UNC 54.1 10 | 191 | 9.525
4662-82 No.8-36UNF 315 | 8 8.5 4.166 4662-3C2 | 3/8-24UNF 477 | 10 | 127 | 9.525
4662-101 | No.10-24UNC 357 | 8 | 127 | 4.826 4662-3C3 | 3/8-32UNEF | 44.5 | 10 9.5 9.525
4662-102 | No.10-32UNF 325 | 8 9.5 4.826 4662-1A1 1/2-13UNC 58.4 | 10 | 23.4 | 12.700
4662-121 | No.12-24UNC 47.7 | 10 | 12.7 | 5.486 4662-1A2 | 1/2-20UNF 50.2 | 10 | 15.2 | 12.700
4662-122 | No.12-28UNF 459 | 10 | 10.9 | 5.486 4662-1A3 | 1/2-28UNEF | 459 | 10 | 10.9 | 12.700
4662-123 | No.12-32UNEF | 445 | 10 | 95 5.486 4662-3B1 | 3/4-16UNC 54.1 10 | 19.1 | 19.050
4662-1B1 | 1/4-20UNC 50.2 | 10 | 15.2 | 6.350 4662-3B3 | 3/4-20UNEF | 50.2 | 10 | 152 | 19.050




